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¯K � n��Ûê,M ´ n��"Eê�8Ü,éM �?Ûf8A,½Â

S(A)� A¥����Ú, Ù¥5½ S(∅) = 0.� A ⊆ M ,XJé?¿ B ⊆ M ,

k |S(A)| ≥ |S(B)|,K¡ A�M ����8.¦M ��8�ê���.

Ö¥�Ñ
M ��8�ê����� 2n.

¢3¯K´� n�óê�,�8�ê����´õ�? �©�Ñù�¯K

�©Û�)�.

©Û�) �)�¥®²y²:ØØ n´Ûê�´óê,�8�êÑØ�L

2n.

(1) n = 2�, |S(∅)| = 0, ∅ØU��8,
M k 3���f8,l
�8�

êØ�L 3.

�M = {1, −1+
√
3i

2
},Kùn�f8þ��8.

nþ,¤¦���� 3.

(2) n ≥ 4�,� n = 2k, k ∈ N∗, k ≥ 2.

e¡�Ñ�«�E,¦�8�ê� 2n.

g´´ò n = 2k − 1�/�Ù¥��Eê
¤ü�Eê�Ú,�¦�k5

��±�q,�òÙ¥��#Eê���C�¦�U�.��By©�8,A¦

#Eê�Ì�Cz��´u��.

e¡�ÑäN�E: �

zj = e2πi
j

2k−1 , j = 1, 2, · · · , 2k − 2,
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5¿� 1− eiθ = 2 sin θ
2
ei
θ−π
2 ,��

k−1∑
j=1

zj =
2πi j

2k−1(1− e
2πi

2k−1 (k − 1))

1− e2πi
1

2k−1

=
e

2πi
2k−12 sin k−1

2k−1πe
iπ( k−1

2k−1
− 1

2
)

2 sin π
2k−1e

iπ( k−1
2k−1

− 1
2
)

=
sin k−1

2k−1π

sin 1
2k−1π

ei
k

2k−1
π.

-

r =
sin k−1

2k−1π

sin 1
2k−1π

,

K
k−1∑
j=1

zj = rei
k

2k−1
π, r > 0.

�

z2k−1 = −rei
k

2k−1
π(1− e−iε) = 2 sin

ε

2
re(

1
4k−2

π− ε
2
)i,

Ù¥ ε�¿©���ê,¦�

arg(z2k−1) ∈
(

π

4(2k − 1)
,

π

2k − 1

)
,

�

arg(1− z2k−1) =
(
− π

2k − 1
,

π

4(2k − 1)

)
.

(ù´U
���,Ï� ε→ 0�, arg(z2k−1)→ π
4(2k−1) , arg(1− z2k−1)→ 0)

�

z2k = 1− z2k−1, M = {z1, z2, · · · , z2k} ,

K

z1 + z2 + · · ·+ z2k =
2k−1∑
j=1

e2πi
j

2k−1 = 0.

�

arg(z1) =
2

2k − 1
π,

arg(−zk−1) = −
π

2k − 1
,

arg(−zk) =
π

2k − 1
,

arg(z2k−2) = −
2

2k − 1
π,
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� z2k−1 Ú z2k á3 Ozk−1
Ú Ozk ü^���SY�S. U_�����

z1, z2, · · · , z2k−2, z2k, z2k−1.

l
3 4k��8¥,k 4k − 2�, z2k−1 Ú z2k ½öØÑy,½öÓ�Ñy,

´�ù 4k − 2��8��
sin k−1

2k−1π

sin 1
2k−1π

= r.

�k�«y©�ªò z2k−1Ú z2k ��m,ùü��8� {z1, z2, · · · , zk−1, z2k−1}

Ú M \ {z1, z2, · · · , zk−1, z2k−1} .

éucö,Ï� z1 + z2 + · · · + zk−1 + z2k−1 = rei
k

2k−1
π · e−iε,l
§���

r;éu�ö,Ù��

|S(M)− S({z1, z2, · · · , zk+1, z2k−1})|

=|0− (z1 + z2 + · · ·+ zk+1 + z2k−1)|

=r.

l
 4k ��8���,q�8�3,��,�8,� 4k ��8���8.�d,

¯K®)û.

e¡´ n = 6��«¿ã.
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